@ TXXFUY—X 85 WK 5l (2006/1/5 %%17) 1ERRFE

No | H |A1T A 1E (RFETIE)

1| 65| 4| [#lE4-5] o [##E] (Bl 4 - 5] o [f#E]
EHLLDHEALHLERRDT, = bhnbt— | EEL5D0EALHLERADT, = hrtE—
ERROERN (4.49) LIEMEWBEO= b | ERoEHRA (4.49) 7256
r =X (4.70) ZHRAGDED & 20Q
S,-S,=mchn(T,/T,)+S,,  (ex4.7) 5275 = L T (ext. D
L5, L5,

2] 65| 9| =v hrE—ZLFFRABEHMEI = br | =2 he -2 TFERABEIC ) = e
E— BTS2 S, Lo TR (ex4.7) ISR D, LT o THEMIEDE
rv, Dz br =D (4.70) ZlHAEDE

% &,
3| 8| 3] -TdS,, =dU - pdV -TdS —TdS,,, =dU + pdV —TdS
4| 146 | 15 | iR 11. iR % 11.
(b) 0.27kgls (b) 0.21kg/s
(c) 0.48 (c) 1.93
5| 157 | 7| h"=2562kJ/kg, h" = 2561kJ/kg,
6| 157 | 11| h, = x4h”—(1— x4)h’ h, = x4h”+(1—x4)h'
=0.773%x2562 + (1— 0.773) %138 =0.773x 2561+ (1— 0.773) %138
= 2012kJ/kg = 2011kJ/kg

711567122 |, =h,—h, =3375-2012 =1363kJ/kg l,, =h, —h, =3375-2011=1364kJ/kg

81157 | 25 — — _ _

T]:h3 h, :3375 2012:0_421 n=h3 h, :3375 201120.421
h,—h  3375-138 h,—h  3375-138
9168 | 5| IREE3IZOCHEFIKTHDLDT RAE 31X 4 O COEIFIE THDHDT

2013/3/11 {ERK




